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1. Multiply out and simplify the following:
a) (v+2)(v+4) b) (U+6)(u+7)

d) (n + 6)(n + 10) &) (x + 2)(x + 6)

c)(h+1)(h+7)

f) (r + 7)(r + 10)

2: Multiply out and simplify the following:
a (f - 1)(f - 5) b) (t- 4)(t- 10)

d) (e- 3)(e- 8 e (y- Ay- 9

¢)(g- 6)(@a- 8)

f) (a- 3)(a- 6)

3: Multiply out and simplify the following:
a) (k+2)(k- 9) b) (b+3)(b- 4)

d) (z- 3)(z+95) e)(+70-9)

C) (w- I)(w+4)

f) (p+9)(p- 10)
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4. Multiply out and simplify the following:
a) (s- 8)(s+8) b) (m+9)(m- 9)

c) (c+5)(c- 5)

5: Multiply out and ssimplify the following:
8 (9- 5)° b) (h- 2)°

c) (u- 3)°

6: Multiply out and ssimplify the following:
a) (-3x- 8)(-5x- 9) b) (4n - 4)(9n + 4)

d) (2a- 7)(-2a- 3) e) (10f - 10)(- 5f +4)

) (7q- 3)(-8g- 4)

f)(-8y- 9(-7y+2)

7: Multiply out and ssmplify the following:
a) (2b + 3)° b) (3j - 9)°

d) (z+8)° e (29- 5)°

Q) (- 2k + 7

f) (- 10m- 2)?

Free worksheet created by MATHSprint. Expanding Quadratics:1

¥ 5 MATHSPprint, 2013




Answers. Expanding Quadratics
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1. aVv+6v+8 b) u* + 13u + 42 c)h*+8h+7
d) n* + 16n + 60 e) X+ 8x+ 12 fyr*+17r + 70

2. a)f?- 6f +5 b) - 14t + 40 C) ¢f - 14q+ 48
d) &- 1le+ 24 €) y?- 13y + 36 f)a?- 9a+ 18

3 a) k- 7k- 18 b)b?- b- 12 Q)W +3w- 4
d)Z+2z- 15 e)j°- 2j - 63 fyp’- p- 90

4. a) s - 64 b) n? - 81 c) c*- 25

5 a&g°- 10g+25 b) h*- 4h+ 4 C) U*- 6u+9

6. a) 15X +67x+ 72 b) 36n° - 20n - 16 C) - 5607 - 49+ 12
d) - 42 + 8a + 21 €) - 50f 2+ 90f - 40 f) 56y% + 47y - 18

7. @42 +120+9 b) 9i2- 54j + 81 C) 4K - 28k + 49

d) Z + 16z + 64

e) 49° - 20g + 25

f) 100n7 + 40m + 4
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